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QIQIél digitq DelKindel THNgeR JRle 99108 |

The figures in the right-hand margin indicate marks.
a9g 99a aae Fsudqaea 6d |

Answer all questions as directed.

Time : 1 Hour 30 Minutes Full Marks : 50
2 _ 22
ma gal — el [Taken:ﬂ
1. [() @9 d9ada 166 90q sdicith fgq @a | 4

Find the sum of 16 terms of the following sequence.

1 1 1
5x6°6x7°7%x8

@91/ OR
AP. 66 8Ql 0l6QI6 el glalig delgl 8 9gd eliia 626t 8 e Q614
3 @614 T GléTh 15 6Q6R, Teugee fdq e |

The sum of first and fourth number out of four numbers in AP is 8 and the
product of second and third number is 15. Find the numbers.

3 P.T.O.
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(i) 661N QE6EITY d6Q CIPIMEA TR & AL el &9 TR < 5 6041
aglenl 84g a9 | 4
If a Ludo dice is thrown once, find the possibility of the event result an odd
number or result < 5.
@91/ OR
605N Gaea 18 fediewa ginle elasd (=2, 1), (2, -3) G 4, )
6Q6M, 096 680U A 89 |

The co-ordinates of the vertices of a triangle are respectively (-2, 1), (2, —=3) and
(4, —4). Find the area of the triangle.

5 P.T.O.
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(i) Q9 eaueMa dgl B @9 : 4
Find the median of the following data :
d°@lo!
0-10 | 10-20 | 20-30 | 30-40 | 40-50
Class Interval
QUANQAC
) 6 11 17 16 10
Frequency
@9/ OR

QU6Q GUIKIRdal AN QY CeIIAMa FIRNAIe G4 6 |

Find the mean of the data given in the above table.
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2. () Q98 @q 64, Qan 9L8g Y& Q99 Qg Qadd d@e qdasd Q99
6A Qq | 5

Prove that, the lengths of two tangent segments drawn to a circle from an
external point are equal.

@91/ OR
Aole @q 69, N&@ Qaq g8y 6@ldd 666N @9 P 606 Qadls \a
_ <>
qéiacig PT I6° e 6906 PAB &G 6Q6m, PA x PB = PT? |

Prove that if from an external point P of a circle a tangent-segment PT and a
«—>
secant PAB are drawn, then PA x PB = PT2.
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(i) 8.3 64.9. Qya GdY W@ Q@ Uwe @ | @Q ABC 49QQlQ G9e
2AQMEie @6 6998 BC = 6.5 64.91. \I6° AB = AC 6QQ | 5

Construct a circle of radius 8.3 cm. Inscribe an isosceles triangle ABC in it such
that BC = 6.5 cm. and AB = AC.

@91/ OR
3 62.0. QUAIS G4y W9 QA @R @Q | Qe e Qgsg @9 P g PA G
PB Q@6 ¢daclg daq @ 6498 mLAPB = 60° 6QQ |

Construct a circle of radius 3 cm. From an external point P of the circle construct
two tangent-segments PA and PB such that mZAPB = 60°.

13 P.T.O.
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AABC 69 /B Q a91q6ige AC @ E @969 & £C @ 29G6l¢@ AB @ F
9969 690 @69 | FE I BC 6Q6m, 9916l @Q 64, AABC 991GQIQ | 5

In_AABC ttibise_ctor of /B intersects AC at E and bisector of ZC intersects
AB at F. If FE |l BC prove that AABC is isosceles.

@9/ OR
AABCQ €9Qa9 62 O Gaaq @ gsgd @9 6Q6a, ddld @q 69,
m/BAC + mZ0OBC =90° |

The circumcentre O of the AABC is internal to the triangle. Prove that
mZBAC + mZOBC = 90°.

15 P.T.O.
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(i) Qoé !Q : 5
Prove that :
sin(A + B) x sin(A — B) = sin?A — sin?B
@91/ OR

: 7. 5 _ -
sin o0 = 5z @ sin B =77 6Q6@, sin (+P) @ A8 g a9 |

7 5
If sin o0 = 35 and sin B = 13 find the value of sin (o + )
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4. | () 66lEN aSQalfla @d SlQdlsta Qe saqlg deq 96 75 dmdl Qa6
216 6'&l 616 QY | G7Q 686k Qda aq |

The cost of fencing a semicircular piece of land at 75 paise per metre is 216
rupees. Find the area of the land.

@91/ OR
6016 Qaam G Qdg afa 9RdIHsQ @18 60l AR Jeag T 1.50
Q4I6q X 75/- 615 6QAI | QANRI Sl G dAsNIE 90° 6Q6R, &9
60T Ada /q |

The cost of fencing a piece of land in the shape of a sector of a circle was ¥ 75/-
at the rate of ¥ 1.50 per metre. If the degree measure of the arc of the sector be
90°, find the area of the land.
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(i) 6616 ARG Gtk 9504 AR 64.9. | NQIQ 96 JEYOR9 6AGTH 1584
Q6 62.7. | dRgaa @96l Add @9 | 4

Volume of a cylinder is 9504 cubic cm and area of its curved surface is
1584 sq.cm. Find the height of the cylinder.

@91/ OR
6elIEN dam d@da drIge Al 56 62.9. G Qg 9YenNa 68eTR
1680 @6l 60.9. | @919 ALER 2520 dR. 69.9. 6Q6m, NQIQ ARIQG
60 Ada /a |

The perimeter of the base of a right prism is 56 cm and area of its lateral surface
is 1680 sq.cm. If the volume of the prism is 2520 cu.cm. Find the area of its
base.

23 P.T.O.
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5. () 99 g4 aadta 2RI 99 5

Solve by the method of cross multiplication :
2x-y-5=0
x+3y-9=0
@91/ OR
~ ~4
66116 Ol QO M QAR 1 64lcletm @@I"@Qg@ﬂ NQ° Qud ma G
~ 1 ~ A
Q9Q 5 A6YS A6M 5 QN | Agrad Ade @q |

) ) . 4
When 1 is added to both numerator and denominator of a fraction it becomes g

) . . 1
and when 5 is subtracted from both numerator and denominator it becomes >

Find the fraction.

25 P.T.O.
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(i) <4aeeq 9Q8eat AIRQ aQ : 5

Solve by completing the squares :
202 - 9x+4=0
@91/ OR

2x% - 6x+3 =0 ANRQEIN IRQ o0 G B 6Q6A, Q9IS & 69

%+‘E+3%+%}+2o¢6:13 |

If the roots of the equation 2x2 — 6x + 3 = 0 are o and B prove that

%+‘E+3%+%}+2o¢6:13.
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